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4. (a)
(b)

4

top of the tower is 60°. From another point 20
m away from this point on the line joining this
point to the foot of the tower’, the angle of
elevation of the tower is 30°. Find the height of
the tower and the width of the canal.
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T R Wt fig &, o & W @ 3= i
60° 81 3@ fig ¥ 20 WX X v I g & 7@ fog
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Find angle between the lines PQ and QR, where
P(za _1): Q(S: 3)7 and R(_2: 6)

PQ 3R QR @il & ®ra ol I I HIWY, W&l
P(2,-1), Q(5,3) 3 R(-2,6).

If there is a point O in a rectangle ABCD, prove
that OB? + OD? = OA%# 0C%

/g 0, v& sma ABCD ¥ fe #ifvw: OB? +
OD? = OA? + 0OC2,

.D = C
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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt
of this question paper.

2.  Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

Question No. 1 is compulsory.

Answer any two questions from question nos. 2 to 4.
All questions carry equal marks.

Use of calculators is not allowed.
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Mention the Vedic Mathematics Sutra and Subsutra
used to solve the question.
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I. Attempt any four of the following :

Ffeilad & @ % TR w97 =it

Cos A 1+Sin A

(i) State whether + =28ec A 18

1+Sin A Cos A

True or False?

e COE.%A +1+SmA=ZSecA o NE
1+48inA Cos A

q7 AT ¢

(ii) sin 15° =

(iii) Give two contributions of Aryabhatta.

WY & o ANEH g

(iv) Find angle between the x-axis and 2x — 2y + 27 = (.
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(a)

(b)

(a)

(b)

3
X -3 J 2x -2y +27 = 0 & S H HO ;A
W

Given Baudhayana numbers for an angle A are
p, b, h, then Baudhayana numbers for A/2 are

el

W A & fow Sues = p, b, h, & W O, A
AR = fog @ e ¥,

In AACB right angled at C, AB =29 units, BC
= 21 units and ZABC = 0. Find tan 6 + sin 8.
AACB & C @®&ivl 8, AB =29, BC = 21, 3R
ZABC = 0 Bl tan 0 + sin 0 & W @A

If sin A = 3/5 and sin B = 8/17. Find cos(A + B).

af% sin A = 3/5 3 sin B = 8/17. cos(A + B) &
LISECRIEC T

If tan A =i , find sin 3A.
24

Ife tanA:Q—Z. sin 3A T W FdEd|

A TV tower stands vertically on a bank of a
canal. From a point on the other bank directly
opposite the tower, the angle of elevation of the
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